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QUESTION 1

It has been decided to improve the efficiency and effectiveness of unit testing by acquiring a number of test tools. Which
TWO of the following tools would you select to support unit testing? 1 credit [K2]

Number of correct answers: 2
A. Dynamic analysis

B. Review tool

C. Coverage measurement tool
D. Monitoring

E. Test management

Correct Answer: AC

QUESTION 2

The comment frequency of the code fragment is 13%. To which ISO 9126 quality attribute does a good level of
comment frequency especially contribute? 1 credit [K2]

Number of correct answers: 1
A. Portability

B. Maintainability

C. Usability

D. Efficiency

Correct Answer: A

QUESTION 3

Based on the state diagram above, how many test cases are needed to achieve 1-switch coverage? 2 credits [K3]
Number of correct answers: 1

A.5

B.7

C.8

D.9

Correct Answer: C
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QUESTION 4

What is the value of statement coverage achieved by test case 1 from test set A? 2 credits [K3] Number of correct
answers: 1

A. 2 75% (21/28)
B. ? 78% (22/28)
C. ? 85% (24/28)
D. ? 90% (25/28)

Correct Answer: A

QUESTION 5

Consider the following decision table,

1 213 ] 4 5

L 1]
=]
ca

21 1 1 1 i 0 0 0 0

£2 1 1 0 i 1 1 o 0

c3 1 i 1 i 1 0 1 o

Al X X

A2 X

How many cases are left when this decision table is collapsed? 2 credits [K3]
Number of correct answers: 1

A2

B.3

C. 4

D.5

Correct Answer: C
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